T2
¢ JF noimal = 3 (km'fﬁr:‘ watrix U (ie. UU = un’=r):
F=UDU e, FU=UD

ows
D= dma CAQ Mgt An) | U] Uaenqunl]
elgenvalues  eryenvechors

o Syslew (53) is dissipative iff ¥ve G"
e(}v.v) (} Rev.l(ev)*(}fuv,fnv)éo.
o Nouw, Yye C" | we have v w

Re (Fvv) = Re (uou®v,v) = ﬂe(ﬂu v, U'v)

e = e (Dww) =
@ = ((el) ew, Lew) +((Re0) Twnw Jwn v)

= é Re Al Jw.|?
e That mnec(aa"'e(a wpl res that the %dan (53) i dcucpq!o'e l#
Z‘ Rel; wit<p Yuel®  le. Rdt £0 ¥ioam.
4.¢.4d W
o Lemma .27

For normal matrices J | we have

(58) NAr 1= ras, IR,

Qroos V=V Ly, €C Seps K% Q... \i0})

2T S It R wi? _
BRODE"= epnsy oz~ -

sup  UREDvIP 4 UREH VR yop AT
Va Y€ " Wvgll + vy |t T ve€ lvi®

i

; e
p = ler | 2 ¢ .
V= Zdiug ) 1= (o) = T gl
Rd)v = Zeq RON)a; | IRV = T 1,1 |R(TAD)|

q.e.d. M




